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&Hluy: 1) DTS S aﬂa’ni&a 5 (& 1D aflé s/ i
P / C5SG 10 L wiolISSELD. G e s ‘ s
2) apyew el sows Cois 615 g1 @ P G e ST ?ﬂﬁﬂ spgeyio-
Note: 1) Answer all the questions. o
2) Choose the best answer and write option code with

1. eNevausicn &yg;rbtﬁ elleneney Sparapid 616HS eSflememumL_ .60 uweTu@SAD Sl

corresponding answer.

) BEsso Gumiig &) Qsmeflev
8) enssdler LBsWD | m) aorédl
In which of the following sport the turning of effect of force used
a) Swimming . b) Tennis c) Cycling d) HOC’er
2. @® QUi QariLiu@sHeamGon g &eflialssrGeon QL erfler
; . Blempuilsd ssHL@BD WIHOHLD _ ' ;
- &) Cpisel <) ST GO
) s 3 . ) Qeupiled 61516 5l606m60
If a substance is heated or cooled, the linear change in mass of that substance is A
a) Positive ‘ b) Negative c) Zero d) None of the above .

3. Lndend allenarey Bl QUDILE QEHLULSDHETET Bubsemeanie &pssa_ 6bhs

sDDI Sl , : .
<) Cal_@ni @uey Heaoulgib, gellaped CalGpenr Crradl BETSD S
=) @69 epeoid (S) wpmid CalGpir (L) &0 B ev_Gleusfluflev _r_r,a,(r.bLbGurrgj ‘
8) @69 gpeuid (S) wppid CaGmir (L) eTnIS6sTeTNI Q&rél.@ggn&. gaq?mﬁungj
=) 66 epevionegl eul L LiLmengulles emLWlLEGSuTed gemwhgl, Cal &n
el LUunensulled mambGUTS) :
Which of the following statements are false about "Conditions for no Doppler Effect”?
" a) Listener at rest and source moves towards the listener 3
b) S and L move in such a way that distance between them remains constant .
c) Sand L are moving in m\utually perpendicular dlrectlons »
d) The source is situated at the centre of the circle along which the Listener is moving

4. Cameogsit GODUD 6THS Qsn@Henws Cernpss? +a ,
<) 176ugl _ 2p) 156ugl . 8) 186ugy v /) 166ug)
__group contains the member of halogen family '
a) 17t NI QA8 e d) 161
5.  @mwns soeedled o _enen snpusaflen emenflsms —
a2 )3 - emm a4 /) 5
The number of components in a binary splutmn is : A
a)2 | b)3 c)4 , ~d)5
6. é!goéw,sdm_a@@dr 615 WIWSSHEPLIqITS uu.ne&ru@eﬂ;pg;,
79 sriurésAels gbleud <) RS
©) ereoLit : ") opeigeman@®
Which of the following are used as anaesthetics? ' ’
a) Carboxylic acids b) Ethers
¢) Esters i d) Aldehydes
7. ol ulen epener @aH@ Gl o ereng
. o)) eumis : 3p) QUMLIS @
8) CgnetsrenL ) Beflionn
The brain of leech lies above the
a) Mouth b) Bucal cavity
c) Pharynx d) Crop

. . = Scanned with OKEN Scanner
Kindly Send Me Your Questions & Answer Keys to us: padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

10,

am!r,l_r,QQm@ggmm& sl_.@uu@g,gjm smmu.u.o

‘www.Padasalai.Net =

S @ e e ) audlpl s
.@) mpaner . oo i rr) mgmu@ungsonmau 4
Vomitirig centre is Iocated [ e Rk .
_a)Medulla Oblongata el )Stomach :
- ©)Cerebrum s T o) Hypothalamus
Bevevast epeotd ‘@suruQU@e;asm qu.uu.uo ,g,trmrrlﬂ
Si) Qeursrwin ~ SR <) Geudy :
‘:@) @@éﬂ : i ‘ R SenrCuime ol_‘ﬂmé\JLD ‘
The plant which Propagates Wlth the hel of its leaves is S
a) Onion S b) Neem : p o C) G|nger : d) Bryophyllum
Qzned o uflis umq.sumesaﬂm 5nmg,smg, <oflw 2_sab SHECUTOSW (PEOD
) (qu.(};um SUITLI6T (g:sm!D : c%) u_lcqcvﬂu_nm arfw (PO .
‘ @) Qur_Lrflwib Sy Tamen (y)mg) ‘ ' ) S 1DHDILD @ :
The best way of direct dating fossils of recent origin isby"
a) Radio-Carbon Method firs - b) Uranium Lead. Method
c) Pottasium-Argon Method : .d)Bothaand c '

sl

12.

sengienLw 50aug pHsHreneTS Q&nmn_mq.u.: nﬂms&wm inéa el Luﬂlmrras

sruurplu gflew oyfidl SHGD 4 : :
1) IR8 ; - o) IR24 @) Quserf] rr) 3|L'_L_m.6h'_l_rr
. The miracle rice which saved millions of lives and celebrated its 50th birthday is
- a)IR8 e . b)IR24 - c) Ponni s | Atomlta
 @CmGonGemb 2160 S HH SaBSE0NS @@unﬁ]m S| SEVITEL amu@mg]
o) oflener Brss Carens S : 2p) ey Sevr_Crmid
8) semeveticoblucoL it Aetr_Gymd - /) Seo&Blwr
_Extra copy of chromosome 21 results in_ Jopiise s ,
 a) Sickle cell Anaemia : , 'b) Down Syndrome
c) Kline Felter Syndrome - . : 2 d) Thalassemia,

' ugg 2/PART - I

@ﬂuq awaCugys 7 alersaens s ol wellbseab. (al_l_lrlu aﬂam 22) (7x2=14)
Note: Answer any 7 questions. Question No.22j; is campulsory. ,

13.

14.

18,

16.

17.

18,

Blenevioid 6TEMILIGH WNSI? S|F6M CUDHSHET WTeneu?
Define inertia. Give its classification.
i@ 5 gyes: 1) el S amfwid
2) penfluunesr - sen i
3) @?aﬂﬁaﬂuuns&r - snlblun s\fls e
i, 4) sOuUYenp = wyGreflww
Match: §).Foel: - o - = lead
2) Moderator - Heavy wat
; , 3 er
3) Control rods - Cad:,nyium rods
4) Shield - Uramum

&efli QrCsensefled Sieunyp Luﬂlﬂmmsm &g
The aquatic animals live more in cold region, Why?

oflwn? saipr? gaigy sraflsd ,ﬂ@ 5 ot
pois.
&oame_&wmmfy_ﬁkapﬂmww mRQetT @ AT
DAL SUTL{6mens Qi IouEe0g
True or False. (If false give the correct statement) i
Silver metal can displace hydrogen gas from nitric acid,
moo@w Sreurisefled srenriu@®ib P SIT DI e :
n . .
Name the three basic tissues system in flowreing plar?t"sﬁm5 Qg_nr@uqasmm il Qs
Sal_ 13606076 STSHDNED 676brenT®

&b eunpdemmen. eein?

. . : Scanned W|th OKEN Scanner
Kindly Send Me Your Questions & Answer Keys to us: padas . net@gmal .com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

- www.Padasalai.Net © o www.TrbTnpsc.com < R

19. Qst@ssin @srar L gSaen R

BT R cucors gy : -

: A ngﬂu’: B dewer gsflssaps. §

- Draw the diagram again and »
identify the parts A and B.

20. defl upeeuuicn Aemgaum_bs Dnémsess, @@ Qupliui L ey 67 681 SIS

QuplL’_ L. uessTy e EMPSEILOEDSI?
The degenerated wing of a Kiwi is an acquired characte
21.  svdlgmes (SCRATCH) eretiped eteimen? E
What is Scratch? _ ' =% iy
. ) : g : i
22. 10 sagub Mo L sms om Berspiiguster @ren® umeﬂﬁ@b@ma; 65@;;
Qewwiu@w Geuened. 100] srafled at’.lqérmﬂa@as&mt_cw o_enen W6 :
Caupiun(® ersmrewt? : ; . it
The work done in moving a charge of 10c across two points in a circul
potential difference between the points? : : .
I _09;311 32)(7x4=28)

r.‘W.hy is it an acquired character?

s 100J. What is

u@:# - 3/PART - III
(-7

&Ly arsmarCugyis 7 eSamEses5S nﬂml_wo_rﬂéaa/zb.( ,
Note: Answer any 7 questions. Question No.32 is compulsory.

23. Pyl Ler usssSpsrer e faemen sﬁ]q_rés@&. :

State Newton'’s Laws of motiqn? : : D)

24, 1) mGeo Asped elflemws sapi&.(2) : : , : - %y
2) AL Llumieneu HOID s ener CSEID Biresoi(d (Bsugjun@ 5@57(2) , Z &
1) State Rayleigh's Law of Scattering. ) b _ » 3 ,&
2) Differentiate the eye defects: Myopia and Hypermetroplia.- - ,’.‘%

25. 1) Smwy smHIGSsQeST6 [l (G asnusumrél&su?m s®S.
o 2) i) HF gpeoéeniled o emen H wpoib F&@ @am_uﬂ.eu o sten Semewriiy e1&I1?
i) Suliememiiienu Siflw 2_ga|b oy aITSSHEo LIETTL| 6T15I? e
i) State two conditions necessary for: rustin of iron. .
2) i) Identify the bond between H and F in HF molecule.
il) What property forms the basis of identification?
Ligeuflens ereiped sT6TT6N? uigeuflens Gamoruseflen epeml F-'"""“-!ﬁmm Tapsis.
What is called homologous series? Give any three of its characteristics?
27, pwedlen e PeIGL®HES LRIV SEMBLI LIL LD euenrhgl ellensGs.
i Explain the male reproductive system of rabbit with a labelled diagram.

N7

BN

\‘\\\"’Q,

26.

i

\

128, 1) ppeoenemw LNGISTILING eSS HEs 2 SO 2 DIILSET Wreneu? o
2) GuineVIgMl STEMDTED ET6TEN? giem 6TILIlG. ClsWHEnSLNS a1 55 65lHH60MD? 'V‘af
1) What are the structures involved in the protection of brain? . ) g
2) What is bolting? How can it be induced artificially? >/<

29. RHGDL SraTSHRINT GOasH el eSlen &5 8.
With a neat labelled diagram describe the parts of a typical anigiosphermic Ovule.
'30. 1) Queired Feir gyiednG aer CamlL Ll Lrerll Qeyews CatbosGSSMT?(2)
2) oie0GeonGambassn aeDIED sr6uen?(2) : : : : :
1) Why did Mendal select pea plant for his experiments?

“Sm——

\—4

2) What are allosomes? . : : 4/
31. wEsgas smPOo e WiGsNAomLuluelar WadLggmsmS aWSIS. >\
Discuss the importance of biotechnology In the field of medicine. ’ : ;\
321 HZOsﬁs'in'eﬂm'ub wessan Henpenws sremns. fi;{

2) 1.0x107> Guneonit Qeleysten KOH senyseflen Plodliienus arans,
1) Calculate the gram molecular mass of H,0.
2) What is the P" of 1.0x10> molar solution of KOH?
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u@g - 4 /PART - IV’
@ﬂl—’ll élmmgg 09&7”&5@5@[0 ﬂgml_luaﬂaaa/m . e
Coaanunsr B_risafled Ln_1b auenys. : e (3)(7 =21)
Note. Answer all the questions. Draw the diagram wherevernecessaf}’- i

33: &)1) @aﬂuﬁlm LISWLI&SYT ch@]m !5"551@ ﬂ@gw;
- 2) DlenGemLib er6trpneD er6tent? A '

3) Blupt L eflesr mrriiwed oﬁ]@uutq., Brevsr( Qun@t_as@es@ @ml—-cu-'“-‘"m
Qzneneosneu Brem® wLkisns sHefsse g6 rrm.u.; aﬂm& 675,5“’“'
LB &empUb? (YONVG) - SR ’

=) 1) a18lQmed eredipen sTetTON?

2) aHQrnel) Calugnaner Grew(H @uﬁgmmé&mm M5,
. 3) a1 flQrreSulles WS LTSNS SnlIs.
- 4) BQwneSulleir oiflirQeissor stemen? |
a) 1) List any four properties of light.
2) What is meant by electric current?

3) According to the Newton'’s Law of gravitation the distance is increase double
_between the two objects. Then How many times Law of Gravitation should be

decrease? . (OR)
b) 1) What is an echo? -
2) State two conditions necessary for hearing an echo.
:3) What are the medical applications of echo?
4) What is the frequency of Ultrasonic Vibration.
34. o) 1) Uy gpevasam Bleop&@id e cw_ngélas@m 2 66 Qg,m_m_‘ﬂmsm m@sﬂ
2) &I eT6NTLIG) 6T6RTERT? Si(h 2_(IH6UM (G6USE0T FLOGHTLINL 6L g,(r_r,as
(HO0S5)
) 1) FRLD Lﬂ@&’rm GaiimisEps@LD, FID 2 Hlehdls asamyu.{m G&nmm&@as@m
- @en_Cuuwner Geupiur@sen wieneu?(4)
2) gpeosamredle ppevdaam) eumuun® C,H,,0 Idleo OH @L 6T6T5T 2
) ST HIETIOLIL SuUMLILITL_6mL_ ep&Is.(1)
) IUPAC Quwilenen stipgie.(1)
@) @&Csiow Bempeypoeveuwn? BevpaynrSeneuwn?(1)
‘a) 1) Derive the relationship between relative molecular mass and vapour densnty

2) What is rust? lee the equation for formation of rust.
(OR)
b) 1) In what way hygroscoplc substances differ from delequescent substances
2) The molecular fermula of an alcohol is C,H, O. The Iocant number of lts
-OH group is 2 » 5
3) Draw its structural formula.

35. o) 1) Cagu@sys: @nelsHamsd sranGeai wppib @@sﬁlgﬁmm sreur Ceufr.(4)
2) usrusenilssHen a5 U@@uﬁlso @aﬂamr;_r,g Q&wev mg)gjm anevellen spmd
meoL Qupdlspet. (2) :
- 3) Qasvedlst gy HMEY enWLD 615?(1)
(V0.
<o) 1) mr@asmﬂm (yxa.élluggjsum unp amis.(5)
2) 2 L DHUBHIOEH L 6TETOUTSHEHESE) - 600T6YS asn..@uun@ urﬂ;ggmlruug,m
Siudluwib stemen? (2) :
a) 1) Differentiate: Monocot root and Dicot root.(4)

2) Where do the light dependent reaction and the calvin cycle occur in the chl 7
3) Which is ATP factory of the cells?(1) oroplast?(2)
‘ (OR)
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